Macro Practice Final Exam


Chapter 6

1..B.
The stages of a business cycle, in order, are:

A.
recession, trough, peak, expansion

B.  recession, peak, expansion, trough

C.
recession, trough, expansion, peak 

D.
expansion, recession, peak, trough

2.        tc "
Which one of the following best describes business cycles?"The NBER will declare a recession has started based on:

A. Only whether GDP contracted for two consecutive quarters

B. Whether GDP has contracted for three of the past four quarters

C. Within six months of when the recession actually started

D. Many economic indicators, GDP being only one of them. 

E. In the same month that the recession officially starts

3..D.
Compared to durable goods, non-durable goods in a recession will have a more variable ______ and a more fixed ________.
A. Price; Quantity

B. Quantity; Price

(this type of question below pertains to both chapter 6 and chapter 13)

4.        Unexpected tc "
Inflation (increase in prices) causes"inflation hurts:

A.
Workers who do not get a COLA 

B.  Short-run profits

C.
Borrowers

D.
Retirement payments that are indexed to the CPI

5..D.
When aggregate demand decreases, this causes


A.
cost-push inflation.


B.
government sponsored inflation.


C.
demand-pull inflation.

D.
less inflation.
6.        tc "
Cost-push inflation occurs when"Cost-push inflation occurs when


A.
costs of resources increase in proportion to the increase in productivity.

B.
costs of resources increase more rapidly than productivity increases.

C.
costs of resources and degree of productivity have nothing to do with cost-push inflation.

D.  costs of resources increase less than productivity.
7.    T    F     An increase in the labor force from 100 million to 105 million people, when the initial number of people looking for jobs was 5 million, must lead to a higher reported unemployment rate.

8. If the unemployment statistic starts to count 20 million underemployed (part-time) workers as 50% unemployed and 50% employed, the reported unemployment rate will:

A. Increase

B. Decrease

C. Not Change

9. If the unemployment statistic starts to count two million military employees, the reported unemployment rate will:

A. Increase

B. Decrease

C. Not Change

10. If the unemployment statistic starts to ignore those taking a “spot of leisure” or vacation, while claiming they are looking for work to get the Unemployment Insurance Benefit, the reported unemployment rate will:

A. Increase

B. Decrease

C. Not Change

Ch 7

11.  tc "
Which one of the following is included in personal income but not in personal  disposable income?"Which one of the following subtracted from personal income to get disposable income?


A.
Income stabilizing household transfer payments


B.
Private sector salaries


C.
Personal taxes

D. Public sector salaries

12. Which form of output is ignored by GDP figures?

A. Sales of harmful goods like weapons

B. Very high electric bills due to excessive heating and cooling costs

C. Volunteer work

D. Very high driving costs like gas and maintenance due to excessive driving distances

Chapter 8
	13.


	If per capita output increases by 6% percent and output grows by 1 percent, the population must be: 

	A.
	decreasing at a rate of 5 percent. 

	B.
	decreasing at a rate of 7 percent. 

	C.
	increasing at a rate of 5 percent. 

	D.
	increasing at a rate of 7 percent. 


14. The Malthusian Prophecy says all of the following will occur whenever population exceeds the stationary state population level, except:

A. An inevitable (unavoidable) return to the stationary state 

B. Starvation

C. Learning by doing 
D. Over-fishing and over-farming

E. Resource wars
15. Evaluate these two sources of growth:

I. While the number of factories is constant, their productivity has increased dramatically over the past two decades

II. More factories and machines have been built

A. Both are Intensive

B. Both are Extensive

C. I is Extensive and II is Intensive

D. I is Intensive and II is Extensive

16. Which is NOT emphasized by New Growth Theory:

A. Network Externalities
B. Learning by Doing
C. Spillover Effects

D. Diminishing Productivity of Inputs

E. Disembodied Technological Change

Chapter 9

17.   tc "
The two assumptions of the neoclassical theory of income and employment are"The two assumptions of the classical theory of income and employment are


A.
competition plus the readiness of the government to interfere in the market if there is need for it to do so.


B.
a government budget that is balanced and as low as possible plus the presence of companies with monopoly power to guide the market.


C.
competition plus a government budget that is balanced and as low as possible.

D.  the existence of firms that have monopoly power plus a government that is   ready to interfere in the market if there is need for it to do so.

18. Classical Economists are least associated with (i.e. they oppose this, they have nothing to do with this):

A. wage-price flexibility

B. Say’s Law

C. countercyclical fiscal policy

D. the Pigou Effect

19. Keynesians are least associated with:

A. Active government intervention

B. Laissez-faire

C. Short-run is more important than long-run

D. Deficit spending can be effective to restore GDP to the potential output level (Y*)

E. Monopolies make the economy less competitive
Chapter 10

20. .D.
GDP=$10 Trillion and GDP*= $11 Trillion, so the economy has a $1 trillion  recessionary gap. If MPC=.75, GDP* will ultimately be achieved when all rounds of spending are complete if:


A.
Consumption spending increases by $1 Trillion.


B.
Investment Spending decreases by $1 Trillion


C.
Imports decrease $250 Billion


D.  Exports increase $750 Billion

21..B.
If the MPC were 0.8, a balanced-budget decrease of both government expenditures and taxes of $70 Billion would


A.
increase income by $70 Billion.


B.
decrease income by $70 Billion.


C.
increase income by $350 Billion.


D.  decrease income by $350 Billion.

22. GDP*=$10 Trillion.
Natural Rate of Unemployment: 5%

Current Unemployment: 8%

Use Okun’s Rule to find current GDP

Current GDP in this recession is:

A. $9.8 Trillion

B.$9.6 Trillion

C.$9.4 Trillion

D.$9.2 Trillion

E.$9 Trillion
23. Using the same data as in the previous question, and an MPE=0.75, how much would government spending have to increase to restore Full-Employment GDP*?

A. $150 Billion

B. $500 Billion

C. $100 Billion

D. $400 Billion

E. $600 Billion 

Ch 11

24. This function of money means the currency can retain its value over time:

A. means of deferred payment

B. standard of value

C. store of value

D. means of exchange

25. Required reserve ratio is 10%, the bank has $28 million in actual reserves, and there are $300 million in deposits. How much will the money supply change after all rounds of lending are complete?

A. -$20 million

B. -$272 million

C. $272 million

D. -$2 million

E. $2 million

26. The simple money multiplier is:

A. The ratio of reserves to deposits

B. The ratio of how much money a bank must keep in accounts at the Fed to a bank’s total deposits

C. The ratio of required reserves to deposits

D. The ratio of the change in M1 to an initial change in deposits

27.  The required reserve ratio is 10%

      The banks are holding (at all times) 12% of deposits in excess reserves

      The public is holding 11.33% of their loans borrowed in the form of cash

If there is $30 million deposited, the change in M1 after all rounds of lending are complete is:

A. $300 million

B.  $120 million

C. $90 million

D. -$120 million

Ch 12
28. If there is a 10% RRR, what should the Fed do to increase money supply by $300 billion?

A. Buy $30 billion in bonds

B. Sell $300 billion in bonds

C. Buy $300 billion in bonds

D. Sell $30 billion in bonds

E. Sell $30 million in bonds

29. Which can vary on a given bond:

A. Face value

B. Maturity date

C. Coupon payment (amount)

D. Yield

30. If holders of Treasury Bills like foreign central banks decide to buy much fewer Treasuries than before, the effect in the T-Bill market is _________ will decrease and the yield (effective interest rate) will _________.

A. Demand; decrease

B. Supply; increase

C. Supply; decrease

D. Demand; increase

31. The rate the Fed charges banks directly for borrowing is called the:

A. Discount Rate

B. Fed Funds Rate

C. Yield

D. Interest Rate

32. Which is a specific power of the Fed

A. Setting the overall interest rate target

B. Interest rate limits on savings accounts

C. Open Market Operations

D. Buying and selling bonds

Ch 13

33. Low inflation and low unemployment in the 1990’s:

A. was due to a right-shifting SAS curve

B. conformed to the short-run Phillips Curve

C. conformed to the long-run Phillips Curve

D. was due to demand-pull inflation

34. Which is not an obstacle for the Fed as it enacts a loose money policy?

A. Implementation lag

B. Recognition lag

C. Excess reserves increase

D. Number of ATM’s in the economy is rising
E. Currency held by public increases

35.  Institutional theorists are most likely to support:


A. Incomes policy

B. Inflation hawks

C. Monetarism

D. Quantity Theory

E. Rules-based monetary policy

36. Monetarists are most likely to support:

A. the insider/outsider model

B. The idea that the economy is extremely competitive

C. Managed inflation

D. Policies to increase employment, even if it results in an increase in the overall price level

E. Low interest rates over high rates

37. The central bank of a developing country, when facing inflation in an election year, may print money, buy bonds, and lower interest rates even though they believe they should do the opposite due to the fact that they:

A. Lack dependence

B. Have credibility

C. Lack independence

D. Believe expansionary policies will raise businesses’ immediate borrowing costs

Ch 14

38. Which Term does not belong:

A. MBS

B. CDO

C. Too Big to Fail

D.  CDS

E.  Derivatives

39. The financial crisis the cause the Great Recession involved all of the following except:

A.  GSEs

B. Deregulation

C. Mortgage securities became illiquid

D. Dot-com bubble burst

E. Subprime lending

Ch 15

40. The American national deficit is:

A. Total amount the U.S. has borrowed over its history, minus all repayments that have occurred

B. Interest costs on the national debt

C. Spending minus Tax Revenue, on an annual basis

D. The ratio of government spending to GDP

41. Which is true about the national deficit or debt?
A. In most recent years, social security has made the reported deficit smaller than it otherwise would be

B. Future generations must pay off the whole debt in full

C. When internally held debt is repaid, it decreases national wealth

D. When externally held debt is repaid, it increases national wealth

42. The ____________ argument about the twin deficits says budget deficits ____________ the trade deficit
A. Traditional; are caused by

B. Traditional; are not caused by

C. Ricardian Equivalence; are not caused by

D. Ricardian Equivalence; do not cause

43. Output is currently $9 trillion. GDP* is $10 trillion. The deficit is $200 billion. The tax rate is 15%.Calculate Structural Deficit. 
A. Structural Deficit = $50 Billion
B. Structural Surplus = $100 Billion

C. Structural Surplus = $200 Billion

D. Structural Deficit = $200 Billion

E  Structural Deficit = $400 Billion

44. There is a $1 trillion inflationary gap. The tax rate is 20%. Structural deficit=$200 billion. What is the Actual Total Deficit?

A. Total Deficit = $0

B. Total Surplus = $400 Billion

C. Total Surplus = $40 Billion

D. Total Deficit = $400 Billion

45. Potential Output is $10 trillion, and GDP is currently $8 trillion. The tax rate is 25%. How much is the passive deficit?

A. Passive Surplus = $200 Billion

B. Passive Deficit = $200 Billion

C. Passive Deficit = $0

D. Passive Surplus = $100 Billion

E. Passive Deficit = $500 Billion

46. The Deficit is $800 billion. Inflation is 5%. Debt is $5 trillion. What is the Real Deficit?

A. $700 billion

B. $550 billion

C. $200 billion

D. $1.2 trillion

47. Which deficit reduction proposal is vulnerable to the “fellow worker problem”?

A. Balanced Budget Amendment

B. Line-item veto

C. Privatization

D. Current account – Capital account budgeting

E. Two-Wage Economy

48. Which policy response to the deficit is offered or implied in The Atlantic magazine’s article “The Vigilante” about PIMCO’s CIO Bill Gross’s recent Treasury bond sales?

A. Balanced Budget Amendment

B. Privatization

C. Current account – Capital account budgeting

D. Two-Wage Economy

E. Monetize the deficit
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